AMERICAN VINTAGE 52 TELECASTER® (0110202850)

28)29)30

25[26)27

23)24

“adsst

PARTS LAYOUT

24)32
] o 1
@]
5

o
) 10

[e)

—
11
12013114
- e ((2Ne
T 15)16)17)18
o T 19
®@ ®@ ©®© ©@ Q00000
33
@
17 \18)21)22
T 24)32
15016 17 18 19)20
Page 1 of 6

COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION Jul 11,2012 - Rev. A



http://www.fender.com/
http://www.fender.com/
http://www.fender.com/

AMERICAN VINTAGE 52 TELECASTER® (0110202850)

PARTS LIST
REF# DESCRIPTION PART

NUMBER
1 BODY VINT 52 TELE BTB 0093577550
2 NECK 52 VINT TELE UPG MPL 0092973821
3 KEY SET GUITAR NI W/FENDER LOGO 0091059060
4 BUSHING STRING POST VINTAGE 0994946000
5 SCREW 3 X 3/8 RHS NI 0018370049
6 STRING GUIDE VINTAGE TELE 0994912000
7 SCREW 4 X 1/2 OHS NI 0018368049
8 NECK PLATE VINT 52 TELE 0018353000
9 SCREW SMA 8 X 1-3/4 OHS NI 0018369049
10 PICKGUARD TELE VINT B & P 0992019000
11 CONTROL PLATE TELE VINTAGE 0093607000
12 3 WAY LEVER SWITCH 0038993000
13 KNOB SWITCH VINTAGE TELE 0093602000
14 SCREW MA 6-32 X 3/8 RHS NI 0018375049
15 CONTROL KNOB VINT 52 TELE KNURLED 0094040000
16 SET SCREW ST 8-32 X 3/16 0994922000
17 NUT HEX 3/8-32 X 3/32 TK NI 0016352049
18 WASHER LOCKING INTL 3/8 X .687 0016436049
19 CONTROL 250K 10% 0990831000
20 CAPACITOR CD .054F 150V AM VINT 50°S 0094119000
21 JACK PHONE OPEN CIRCUIT 11 0021956049
22 FERRULE JACK NICKEL NOCASTER 0058086060
23A | BRIDGE SECTION VINT TELE 0990843000
23B | SPRING COMPRESSION 1-1/16 #144 0018689049
23C | SCREW ST 6-32 X 7/16 OVPT SL NI 0016105049
23D | SCREW M 6-32 X 1-1/4 FLHS NI 0018377049
23E | SCREW M 6-32 X 3/8 OVPT SL NI 0094038000
24 SCREW WOOD 6 X 1 OHS NI 0018371049
25 PICKUP ASSY 52 TELE BRDG 0094123000
26 SCREW 6-32 X 5/8 RHS NI 0018376049
27 TUBING LATEX CUT .375 X 1/8ID X 1/40D 0036878000
28 PICKUP ASSY 52 TELE NK 0094124000
29 SCREW WOOD 3 X 1 RHS NI 0018373049
30 TUBING LATEX CUT .550 X 1/8 0039410000

% = NOT PICTURED IN DIAGRAM

Page 2 of 6

2 %@[@é COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION

Jul 11,2012 - Rev. A



http://www.fender.com/
http://www.fender.com/
http://www.fender.com/

AMERICAN VINTAGE 52 TELECASTER® (0110202850)

PARTS LIST
REF# DESCRIPTION PART

NUMBER
31 SCREW WOOD 5 X 5/8 OHS NI 0095368000
32 STRAP BUTTON NI .156 0994915000
33 FERRULE STRING RETAINER NICKLE 0994918000
* CASE GUITAR 2012 AM VINT TWEED 0094758000
* WRENCH .050 HEX KEY SHORT ARM 0018531049
* RESISTOR CARBON 15K 0095438000
* BRIDGE COVER CHROME TELE 0992271100

x = NOT PICTURED IN DIAGRAM

2 %@[@é COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION

Page 3 of 6
Jul 11,2012 - Rev. A



http://www.fender.com/
http://www.fender.com/
http://www.fender.com/

AMERICAN VINTAGE 52 TELECASTER® (0110202850)
MODERN WIRING ASSEMBLY

NECK PICKUP

3 WAY
SWITCH

BLACK & WHITE
WIRE TO
OUTPUT ASSY
O O O O
\_ O 0 0 0 0 O /
T T O

VOLUME
CONTROL

CAPACITOR .05uF

TONE
CONTROL
Page 4 of 6

@
‘ ;%@Zgjé COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION Jul 11,2012 - Rev. A



http://www.fender.com/
http://www.fender.com/
http://www.fender.com/

AMERICAN VINTAGE 52 TELECASTER® (0110202850)

e VINTAGE WIRING ASSEMBLY
J
NECK PICKUP
o O O OO O O o

3 WAY
SWITCH

N
@

‘\ O

N o |
. C =\
==

15K RESISTOR\ - JI[F%Q
’/

R
= 0
]

CAPACITOR .054F ..| 35

. IJ \ 4 o | 835

BLACK & WHITE
WIRE TO
OUTPUT ASSY
VOLUME
CONTROL
O TONE
CONTROL
® Page 5 of 6
COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION Jul 11.2012 - Rev. A
Soadsh |



http://www.fender.com/
http://www.fender.com/
http://www.fender.com/

AMERICAN VINTAGE 52 TELECASTER® (0110202850)
SWITCH AND CONTROL FUNCTION

3 WAY SWITCH POSITION

5 3 iz % —— 3 WAY SWITCH
1 POSITION
e
g GEED @G | | = NECKPICKUP
O
o e BRIDGE PICKUP
o O
INDICATES POSITION
@D | PICKUP IS ON OF 3 WAY SWITCH
¥
5 C— D | PICKUP IS OFF

NECK

PICKUP

BRIDGE 5 WAY

PICKUP

CKU SWITCH

MASTER
VOLUME
MASTER
TONE

@ Page 6 of 6
%2 %J(@é COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION Jul 11,2012 - Rev. A



http://www.fender.com/
http://www.fender.com/
http://www.fender.com/

